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int main () {

int zero;

int minus_one;

int sum;

int n;

zero = 0;

minus_one = -1;

sum = 0;

n = 10;

while (n > zero) {
sum = sum + n;
n = n + minus_one;

};

print sum;

}
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ident = (JELTFHIEL FHHETHON) [FH)F]
const ::= true | false | (B DOER) [ER]
prog ::= dec | dec prog (707 T L]

]

fll]

dec ::= type ident(plist) statement; [HIE
| type ident; [ZRE S|
type ::= int | bool [1!]
plist ::= type ident | type ident, plist [XHIEL DA ]
statement ::= ident " =7 exp; [fN\A]
| while exp statement [while ]
| {prog stlist} [EE>EHEL]
IEEY
| print ezp; [print 3]
| return ezp; [return 3]
| if exp statement else statement [if ]
stlist ::= statement | statement stlist [L D T]
exp ::= ident | const | exp+exp | expxexp | [3\]
| exp==exp | exp>exp
| ident(explist) | (exp)
explist := exp | exp, explist [ZNDI T
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int £ (int x) {
int result;
if (x==0) result = 1;
else result = x * f(x+(-1));

return result;

}

int main () {
print £(5);

}
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f (int x) {

}

int main () {



£(5);
}

F72, BBORYEZRT return SUE, BBOREISRTHITWT R0, (B HZEZIihsbh Ty L
7Y, BROEEDINT return 2 AT L 72 & E OFENTED TR0, )

T AW BV TE, HHETFOMEEP CEHLAMIEE > Twd, LRI, 142313
1+ (2+3) LTS NG, (Lo UIE T 71BN L0 TH L., HETOEE L ERICONT, X1
FEBICECR 9 2 5T, milEFE Lz, )

. . —_—= =~ =
3 MiniC SEDELG

SR, TEANEKRIEIC ST, A v 7 4 — < IV REkRISHD 5,

3.1 KBE®. BAAEH. JOv /EE
DITF ol 5hn5b k512, MiniC T, ZROEZIE. 4180 OFANcEHNE D,

int x;
int foo (int y) {

int z;
{int w; ...}

}

int main () {
...foo(10) ...
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3.2 EHDRI—T (scope)
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3.3 ENH)H#E (dynamic binding). KR (static binding)
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int x;
int g (int y) {
return x + y;
}
int £ () {
int x; x = 10;
return (g(20));
}
int main O {
x = 5; print £Q);
}
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